W29 FE R E RS AE T2 A (8 )
TS RN R MOKEER A EIN S —
973 2= A BRET
I. K808 ({57 G A ElE)
SRR (CC) % 7K £ (mm) H BRI [ (h)
A | AR 7= AAE | A 7= AAE | AR 7=
Ay 29.3 28.1 +1.2| 138.0 63.7 | +74.3| 70.5 81.1 | -10.6
R 28.7 28.0 +0.7 1.5 53.4 | -51.9| 69.9 71.2 -1.3

T AJ 29.1 27.4 + 1.7 3.5 55.9 | -52.4| 59.2 78.9 | -19.7
KAAE T A)OfEIX8/21-8/280DF — X2 TEFHEL TVET(8/29-8/310DF —Z I A-> TWEREA),
II. JFEHRDIEERIL

(58 {4)
| R |

T AV RS T TR T, BT A 8/10,14

Ao N TR RAEE R

i 4 . » PR R e AT B & OV A DR
Bow b b 9 1 0 0 0 10 10.0 25 F O OFE %) 0.0
(R m ) 8 1 0 0 0 9 11.1 2.8 0.0
(4 & &) 1 0 0 0 0 1 0.0 0.0 0.0
L T ] 6 4 0 0 0 10 40.0 100 % W E o 1.0
(R wm ) 6 3 0 0 0 9 33.3 8.3 1.0
(46 & & ) 0 1 0 0 0 100.0 25.0 1.0
TN N VI 10 0 0 0 0 10 0.0 0.0 Z % % F %): 0.0
I I 10 0 0 0 0 10 0.0 0.0 Z W B HE %): 0.0
I S ] 10 0 0 0 0 10 0.0 0.0 & #w E 0.0
= A A A 10 0 0 0 0 10 0.0 0.0 # F B HE %): 0.0
Yy muygh 1 9 0 0 0 10 90.0 225 %/ Bk (EH ) 0.1
(R m FE) 1 8 0 0 0 9 88.9 22.2 0.1
(4 & &) 0 1 0 0 0 1 100.0 25.0 0.2

[N 10 0 0 0 0 10 0.0 0.0 m #/ #% (8 ) 00
(A m ) 9 0 0 0 0 9 0.0 0.0 0.0
(46 & & ) 1 0 0 0 0 1 0.0 0.0 0.0
Vasa/A=t l= DA 2 6 1 1 0 10 80.0 275 M o% / Bk (EH ) 26
(R m FE) 1 6 1 1 0 9 88.9 30.6 2.6
(4 & &) 1 0 0 0 0 1 0.0 0.0 0.0
?iiﬁﬂ#grﬁ) 7 2 1 0 0 10 30.0 100 H % /207 ) () 1.0
(R m ) 6 2 1 0 0 9 33.3 11.1 1.1
(4 & &) 1 0 0 0 0 1 0.0 0.0 0.0
TEFEav s 10 0 0 0 0 10 0.0 0.0 m #/ #% (8 ) 00
a7 ) AAH 10 0 0 0 0 10 0.0 0.0  Efr2tEopERER®%): 0.0
ZF E MW 10 0 0 0 0 10 0.0 0.0 % W K : 0.0
HOE M W 10 0 0 0 0 10 0.0 0.0 & % E 0.0
{FE/Y Y 10 0 0 0 0 10 0.0 0.0 & ¥k /25 ¥k (& ): 0.0
LXx78H ALY 10 0 0 0 0 10 0.0 0.0 ¥k /25 # (§H): 0.0

AR - PERTHUIPNET ARBIET), /R 5 T BFET, SZITHT | AT,
BT o (R AT BT T R EET, IR 1T
b Ve E : B TR AT




g A 1

TR BT IR AREPAR. BT IS T RARUMT, =4, & BT AT AR AT A 8/10.14

F& A R BE A I B K

i 7 o 4 gl EEE s RoREosH
" D L 2 -

S VAT S ) 15 5 0 0 0 20 25.0 6.3 F& W M K () 0.2
C ® & ) 2 0 0 0 0 2 0.0 0.0 0.0
(e ) 1 0 0 0 0 1 0.0 0.0 0.0
(d& & &) 11 5 0 0 0 16 31.3 7.8 0.3
( m| # ) 1 0 0 0 0 1 0.0 0.0 0.0
e i ¥ 7 12 7 4 0 30 76.7 3L F 9N BR & %): 213
C ® # ) 1 1 0 0 0 2 50.0 12.5 6.0
(e R ) 1 0 0 0 0 1 0.0 0.0 0.0
(de ) 5 7 3 1 0 16 68.8 25.0 15.0
( /| & ) 0 4 4 3 0 11 100.0 47.7 35.3
b A fh A 30 0 0 0 0 30 0.0 0.0 % H F FE %): 0.0
=/ TR 1 29 1 0 0 0 30 3.3 0.8 F& i K L %): 0.1
C ® # ) 2 0 0 0 0 2 0.0 0.0 0.0
(W R ) 1 0 0 0 0 1 0.0 0.0 0.0
(e F ) 16 0 0 0 0 16 0.0 0.0 0.0
( ™| & ) 10 1 0 0 0 11 9.1 2.3 0.4
fe =2 5 L ¥ 30 0 0 0 0 30 0.0 0.0 Z W B FE %): 0.0
I S ] 26 4 0 0 0 30 13.3 33 % WOk =E (B 1.07
C ® # ) 2 0 0 0 0 2 0.0 0.0 0.0
(e R ) 1 0 0 0 0 1 0.0 0.0 0.0
(e F ) 16 0 0 0 0 16 0.0 0.0 0.0
( ™| & ) 7 4 0 0 0 11 36.4 9.1 2.9
LI I 26 3 1 0 0 30 13.3 42 ¥ W E o 04
C ® & ) 2 0 0 0 0 2 0.0 0.0 0.0
(e ) 1 0 0 0 0 1 0.0 0.0 0.0
(& & &) 16 0 0 0 0 16 0.0 0.0 0.0
( |\ # ) 7 3 1 0 0 11 36.4 11.4 1.0
EANE TS 2 23 3 1 1 30 93.3 300 H %% / Kk (8H ) 1.3
C = # ) 2 0 0 0 0 2 0.0 0.0 0.0
(e R ) 0 1 0 0 0 1 100.0 25.0 0.1
(e ) 0 16 0 0 0 16 100.0 25.0 0.4
( ™| & ) 0 6 3 1 1 11 100.0 43.2 2.9
= A A H 30 0 0 0 30 0.0 0.0 # F B HE %): 0.0
vty muy v 1 29 0 0 0 30 96.7 242 B ¥/ kR (BE ) 04
C = # ) 1 1 0 0 0 2 50.0 12.5 0.0
(e R ) 0 1 0 0 0 1 100.0 25.0 0.0
(e F ) 0 16 0 0 0 16 100.0 25.0 0.3
( ™| & ) 0 11 0 0 0 11 100.0 25.0 0.6
[ =/ A 30 0 0 0 0 30 0.0 0.0 H %/ #k (8 ) 00
Y= agaoandg 8 21 0 1 0 30 73.3 200 A %/ Bk (EH ) 17
C ® # ) 0 0 0 0 2 100.0 25.0 1.4
(e R ) 1 0 0 0 0 1 0.0 0.0 0.0
(e F ) 4 12 0 0 0 16 75.0 18.8 0.4
( ™| & ) 3 7 0 1 0 11 72.7 22.7 2.5



BE ALK ALY SR

(A @& 11 12 7 0 0 30 63.3 217 ¥ /2079 (EH): 1.9
C ® # ) 0 1 1 0 0 2 100.0 37.5 3.0
(e R ) 1 0 0 0 0 1 0.0 0.0 0.0
(e F ) 4 6 6 0 0 16 75.0 28.1 2.8
( ™| & ) 6 5 0 0 0 11 45.5 11.4 0.6
TEFEaY A 28 2 0 0 0 30 6.7 1.7 S m /% (8): 0.0
C ® & ) 2 0 0 0 0 2 0.0 0.0 0.0
(o ) 1 0 0 0 0 1 0.0 0.0 0.0
(& & &) 15 1 0 0 0 16 6.3 1.6 0.0
C v & ) 10 1 0 0 0 11 9.1 2.3 0.0
a7 ) AAH 29 1 0 0 0 30 3.3 0.8 # F K = ®): 0.1
C ® # ) 2 0 0 0 0 2 0.0 0.0 0.0
(e R ) 1 0 0 0 0 1 0.0 0.0 0.0
(e F ) 16 0 0 0 0 16 0.0 0.0 0.0
( ™| & ) 10 1 0 0 0 11 9.1 2.3 0.4
ZF E MW 30 0 0 0 0 30 0.0 0.0 % W K 0.0
HOE M W 30 0 0 0 0 30 0.0 0.0 & % E 0.0
EE 30 0 0 0 0 30 0.0 0.0 F H #HK = ®): 0.0
{FE2y Y 26 3 1 0 0 30 13.3 4.2 R #¥% /25 BE (fE ) 0.5
VAT YN 29 1 0 0 0 30 3.3 0.8 H ¥ /25 %k (EH): 0.0

g A 1

FEES T, WP, AEFER, P TT, LT, AL UNT, Z4faT, &%), A T4 8/25,28,29

F& A R BE A I By K

i 7 o 4 gl EEE s RowEos

® D L 2 -
B b b 17 4 0 0 0 21 19.0 4.8 R OB L () 0.2
(d& & &) 7 4 0 0 0 11 36.4 9.1 0.3
( | # ) 10 0 0 0 0 10 0.0 0.0 0.0
4 i ¥ 8 14 0 0 0 22 63.6 159 % % E 36
(e F ) 5 6 0 0 0 11 54.5 13.6 4.5
( ™| & ) 3 8 0 0 0 11 72.7 18.2 2.8
b A il AW B 21 0 0 0 0 21 0.0 0.0 Z % F FE %): 0.0
=/ TR 1 22 0 0 0 0 22 0.0 0.0 F& 7 K = (): 0.0
fe =2 5 L ¥ 21 0 0 0 0 21 0.0 0.0 % 7 B FE %): 0.0
I S 19 3 0 0 0 22 13.6 34 F W OB E () 0.5
(e F ) 11 0 0 0 0 11 0.0 0.0 0.0
( ™| & ) 8 3 0 0 0 11 27.3 6.8 1.09
WO K R 19 3 0 0 0 22 13.6 34 X OW K 0.14
(d& & &) 11 0 0 0 0 11 0.0 0.0 0.0
C v & ) 8 3 0 0 0 11 27.3 6.8 0.3
EANE TS 0 22 0 0 0 22 100.0 25.0 B %% / Kk (8 ) 09
(e F ) 0 11 0 0 0 11 100.0 25.0 0.9
( ™| & ) 0 11 0 0 0 11 100.0 25.0 0.9
= A A A 21 1 0 0 0 22 4.5 L1 # % &% = ®%: 0.0
vty muy v 1 21 0 0 0 22 95.5 239 W ¥/ kR (3E ) 0.3
(e F ) 1 10 0 0 0 11 90.9 22.7 0.3
( ™| & ) 0 11 0 0 0 11 100.0 25.0 0.3
[ =/ A 22 0 0 0 0 22 0.0 0.0 H %/ #k (8 ) 00
Dasa/A=t = PAvd 4 17 1 0 0 22 81.8 216 A %/ Bk (B ) 07
(e ) 2 9 0 0 0 11 81.8 20.5 0.3
( ™| & ) 2 8 1 0 0 11 81.8 22.7 0.8



BE ORI ALY HR

TS 9 9 4 0 0 22 59.1 19.3 B ¥ /207 ) (8H): 1.6
(A6 F o) 3 6 2 0 0 11 72.7 22.7 2.0
( m\ & ) 6 3 2 0 0 11 45.5 15.9 1.3
TEFEayy 18 4 0 0 0 22 18.2 45 S R/ B (BE ) 0.0
(G B 7 4 0 0 0 11 36.4 9.1 0.0
( v % ) 11 0 0 0 0 11 0.0 0.0 0.0
a7 )AL 19 2 1 0 0 22 13.6 4.5  Efr2tEOEERG®: 0.5
(de F o) 11 0 0 0 0 11 0.0 0.0 0.0
( v %) 8 2 1 0 0 11 27.3 9.1 1.1
T OF E MW 22 0 0 0 0 22 0.0 0.0 * JK & : 0.0
H ZE & W 22 0 0 0 0 22 0.0 0.0 %¥ & B o 0.0
e i I5 22 0 0 0 0 22 0.0 0.0 % % B £ %): 0.0
A1FEVY TR 21 1 0 0 0 22 4.5 1.1 7% % /25 # (@ ): 0.0
L3270 Hhrhy 22 0 0 0 0 22 0.0 0.0 % /25 Bk (8H): 0.0
b o ASPTTRRRET, BEPRRCEE AT, MCEFIT, AT, FAl T (R EPET, TGN,
FP) TN ST, 44 PE ARG FERT
W EETHRET, EBET), =4 = 20T, A LLNT

ST, ISP, AR : 8/9,10

F& A R BE A I By K

FE 2 [l

i E R4 5 2 (0 ke FRATE B K OV A ORI
i b " 45 - L% e
£ A M E R 1 10 2 0 0 13 92.3 26.9 @ = i 14.1
4 F X N H 13 0 0 0 0 13 0.0 0.0 # F ZFE E %): 0.0
VA AN 13 0 0 0 0 13 0.0 0.0 % A& B #F %: 0.0
NOH = M 13 0 0 0 0 13 0.0 0.0 ZF 4 HE L %): 0.0
bA ik 5 13 0 0 0 0 13 0.0 0.0 % 4 m A F %: 0.0
Antaaty’g3 7 5 0 1 0 13 46.2 154 % A& B O %): 11.1
HAX
EEH, mALLATFHZA: 8/10
A RR N B 5 K -
Wi E 4 e IR TR ROREONH
4 b h % B -
VAR AN 2 0 0 0 0 2 0.0 0.0 258k 7=0 %k (EE): 0.0
W FEME R AL FE 1 1 0 0 0 2 50.0 12.5  258RM7-0 ¥ (EE): 0.5
NAFELARY 2 0 0 0 0 2 0.0 0.0 25Kk 7=0 k% (8H): 0.0
INAELIRNY 2 0 0 0 0 2 0.0 0.0 & e & : 0.0
~ & ] 2 0 0 0 0 2 0.0 0.0 ¥ m B : 0.0




[R #]

NI

T T, WEIET, e AT AT IEAS : 8/10
& R B A B K -
Wi E 4 e IR A ROREON
4 & h % P -
L /N 51 6 1 1 0 0 8 25.0 94 REOHRIFERE: 35
VA AN 2 4 1 0 1 8 75.0 3.3 & A& OH M O . 67
IH K = 6 2 0 0 0 8 25.0 63 HEIE D EF L E . 13
SHUNETUH 1 0 3 1 3 8 87.5 65.6 FHF A HE = . 323
T XTI HIFY 8 0 0 0 0 8 0.0 0.0  10847-07AEREED: 0.0
AH T
PEE T, ALET eI AT, BEHIT R : 8/10
J& R B % .
i ok 4 e REE s rosekosi
T S PN R
A N 7 1 7 0 0 0 8 87.5 219 REORFREE: 23
2 yy ] 8 0 0 0 0 8 0.0 0.0 REOHKFEE: 00
/N 51 8 0 0 0 0 8 0.0 00 FEORKKEE: 00
L /N 51 8 0 0 0 0 8 0.0 0.0 BREOHKFEE: 00
VAR AN 2 2 2 2 0 8 75.0 375 w4 B M OE Tl
IH K = 5 3 0 0 0 8 37.5 94 HIE D FE FE . 24
I H = 8 0 0 0 0 8 0.0 0.0 1HIY7-HERE: 0.0
SHUNETVF 0 1 2 4 1 8 100.0 65.6 & A& #E FE o 203
<A THIFY 8 0 0 0 0 8 0.0 0.0  10847-0%AmEE: 0.0
v
ISP THT, A ERT A 8/10
J& R R B % .
5 8 b AW LR e Rosetoss
®oob ar Y T
= 2 5 8 0 0 0 0 8 0.0 0.0 % % R F %: 00
P SN | 6 2 0 0 0 8 25.0 6.3 #H = B T %): 0.3
FreA A 8 0 0 0 0 8 0.0 0.0 # F HF F %: 0.0
NOH = M 3 4 1 0 0 8 62.5 188 F A4 I F %): 4.5
A NR | 8 0 0 0 0 8 0.0 0.0 # & R £ %: 00
58 A 2 2 6 0 0 0 8 75.0 18.8 I O F K 03
i e ] 8 0 0 0 0 8 0.0 0.0 % Jm H F %: 0.0




AT, SBEWT, AL UITEHA: 8/25,29

A AR E B A n
W oE A e IR TR R ORI
e D H EZE
175 JH. ¥ 6 0 0 0 0 6 0.0 0.0 F i R =L (): 0.0
Y EEAN SNV 6 0 0 0 0 6 0.0 0.0 # F HF F %: 0.0
7V A AN T hY 4 1 0 1 0 6 33.3 6.7 #F A& R oL ) 1.3
Fy)¥AuTH Iu< 6 0 0 0 0 6 0.0 0.0 # F R HE %): 0.0
AEILTH Iv= 6 0 0 0 0 6 0.0 0.0 # = H = ®W): 0.0
B A N YO 4 2 0 0 0 6 33.3 83 # F R E ): 03
N XAV 5 1 0 0 0 6 16.7 4.2 # E OB K ®W): 0.2
28 AR 4 0 1 0 1 6 33.3 25,0 3 W FE F %) 13.2
A OB O W 5 1 0 0 0 6 16.7 42 % W OB O (% 0.2
A 7 bl 4 2 0 0 0 6 33.3 83 & A& FE HE %): 03
(2 ]
e, L, Z4aFih, A LUHTRRA : 8/25,29
AR R B E B 4k .
w4 gl EEE s ROREORH
" D aE % it
28 AR 2 6 0 0 0 8 75.0 188 % 9§ JE : 5.4
VA AN | 6 2 0 0 0 8 25.0 6.3 1IEYUEVOHEABKGE): 0.0
MNAELIRY 6 2 0 0 0 8 25.0 6.3 # &E E . 03
INAELIRY 6 2 0 0 0 8 25.0 6.3 H E B K % : 03
NOF = M 3 5 0 0 0 8 62.5 156 % A& FE R % : 5.0
7THFIv -~ 4 4 0 0 0 8 50.0 125 % & ¥E K W : 1.3
7 ¥ I < HE 6 2 0 0 0 8 25.0 6.3 H F R E W : 04
e AN 6 2 0 0 0 8 25.0 6.3 100%EM7=0DIREE): 0.4
Aol 7 1 0 0 0 8 12.5 31 g E R K ® - 0.1
H i ] 8 0 0 0 0 8 0.0 0.0 F& W B £ W : 0.0
B E IR 8 0 0 0 0 8 0.0 0.0 Z W R F W : 0.0
A VAC AN/, 8 0 0 0 0 8 0.0 0.0 # & E £ % : 0.0
S TRA: 8/28
N A AR E B A %A (] ST ) ) )
i 4 - RS i $ S AT B & OV A DR
® D H EZE (%)
S Br I3 8 1 0 0 0 9 11.1 28 F W E 0.1
XX T HIv~ 0 7 2 0 0 9 100.0 306 # F A 7.2
NAELIRY 9 0 0 0 0 9 0.0 0.0 F &£ ¥ = ® 0.0
suAFEDIIY 0 6 2 1 0 9 100.0 6.1 FH A K OE O 10.2
vaAFEDIRY 0 3 4 1 1 9 100.0 50.0 FF £ B B (EH) 9.0
ZENFETYNT 1 5 3 0 0 9 88.9 306 # E B 7.9




TS AV R T BT 7 AR AT, BT i 8/28

2R R R N B 8 4% n
5 8 b 4, e REE a5 OO
® D GR %  ® A
I74 JH ] 13 1 0 0 0 14 7.1 1.8 % W Bk E %): 0.1
NOX = 7 7 0 0 0 14 50.0 125 % A& B E ®%): 5.3
NOH = H 7 7 0 0 0 14 50.0 125 2 & #E =& @): 3.1
ES B I5 13 1 0 0 0 14 7.1 1.8 B W B = %): 0.0

1) RBAEREREHILLTOXLRD TN,
(X1 4+ FX2+ %X3+ Hx4)

FAFRERS = X100
PR P < 4
[ HfE7=oe 1507 |
60
S3
50 L —m—Hi4E 20164
—o— K4 20174
== 40
Ay
&=
# 30
& 2
10
0 1 1 1 1 1 1 1
4,14,34,55/1535.56./16.36.,57.17./,37.”58.18./38./5
B/%4]
1 FEASUIALY TIOFRVNSYTHREHD
* BP9, ATRET D Ot = SE ¥ (7/1 D S IXIBFI T D 4 1th 51 F 1)
% T4
30 ——Fij 5 20164
—o— R 20174
E%E
34
#
L]

414,3455-15-35/56,16.,36.571737,58,18.38/5

A/ %4

E2 FIEASUHALY DJIOFVNSYTHRMHRS
XEHRES (BREZE 42— EiR)



70 L THE
60 —=—Ri4F 2016
Eﬁ 50 —@— K4 2017
g 40
58 30
20
10
0
4/1 4/3 4/5 5/1 5/3 5/5 6/1 6/3 6/5 7/1 7/3 1/5 8/1 8/3 8/5
R/%4)
X3 SFERBAALIEE(FVYINRT AT AALY  INTFHALY D
HXAALTTAEVNSYTER (B FHED
1000 |
%00 T —I—‘ﬁ:TF]gZZNGEE
800 - ==K 20174
700
% 600
& 500
B 400
300
200
100
0

4/1 4/3 4/5 5/1 5/3 5/5 6/1 6/3 6/5 7/1 1/3 1/5 8/1 8/3 8/5
R/44)

B4 FRAICEDREBAALVEEINTA +F v/ 3R+ 09 X)DFERE (BHET)

160
EE T
140 —B—Hi4E 20164

120 ==K 20174
% 100
& 80
B g

40

20

0

4/1 4/3 4/5 5/1 5/3 5/5 6/1 6/3 6/5 7/1 1/3 1/5 8/1 8/3 8/5
A/¥a
K5 FEATICKDIEBHAALVEINTA +FroN\R+09)DFRE(LARET)

100
90 | FaE
80 —m—Hi]&E 20164
70 + —@— K4 20174

4/3 4/5 5/1 5/3 5/5 6/1 6/3 6/5 7/1 1/3 1/5 8/1 8/3 8/5
A/#%4
M6 #AA2/aHTTOEUSYTFREHM#RE
MR . =47, RAKLET. BHETD7H R



800

700 | FE

——Fi4 20164

600 | —e— A 20174

% 500
B 400
/ETE 300
~ 200

100

600
500
=% 400
% 300
200
100

0

515355 6/16/36,57-17/37/58,18/38/5
A/ %4
R7 NREVILY JTOEVNSYTER BB (B RES)
* {8 B, B FF BT B T, E B T, R A K LET, =8 D 10 s S 1

TE
—8— R4 20164
—— K 20175

5153 5/5 61 6.3 6/5 7”1 7/3 7”5 8.1 8/3 8.5
R/ %4
B8 o4 FESAMY JIOEV IS YT ER R (BRAES)
* fE B ™, B FH BT FLR T, BT 06 R

L
L —B— R4 20165
—0— R4 20174

571653 55 6.1 6,3 657173 7/5 8,183 8/5

800

B/ %4
X9 NRELIAMY JOEVISYTERBHES(HERS)
* T BRI KB D4 R F Y

T

700 | —m—RI4E 20164
600 | —O— KL 2017F

£ 500
;n.

> 400

38 300

200

100

0

5153 5/5 6163 6,57/17/37/58/18/38/5
A/ %4

E10 S O/FEDILY JOEVNSYTHR B (HERS)
* RS BT MR D4 R T



